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Capitulo 1

Factorizacion

1.1. Factorizar las siguientes expresiones algebraicas como pro-
ducto de un binomios y un trinomio.

. 48 4 8z + 14y + xy + 3>

Sol: (8 +4)(6 + z + y).

2. —28 —dx —4xy + Tz + xz + 2y2. Sol: (7+ z + zy)(—4 + 2).
3. 18 — 6z — 3zy + z%y — 3yz + zy=. Sol: (=3 4+ x)(—6 + zy + y=z).
4. 1022 + 23y + 10xz + 10yz + 22yz + zy?2. Sol: (10 + zy)(z? + z2 + y2).
5. 18 — 9z — 3yz + 22 4+ yz2. Sol: (=34 2)(—6 + z + yz).
6. 16 + 822 + 2xy + 23y + 82 + xyz2. Sol: (8 + xy)(2 + 22 + 2).
7. —27 — 3z + 922 + 23 + 9y + xv. Sol: (9 +z)(—=3 + 22 +9).

10.
11.

z® + z* +xy+m2y+a722+a:32.
—48 + 8z — 622 + 22 — 62y + 22y.
15 4+ 522 + 5y + 3z + 222 + yz.

Ty + J;2y == y2 T :cy2 <+ Y aF y2z.

Sol: (1 + z)(2? + y + x2).
Sol: (=6 + z)(8 + 2% + zy).

Sol: y(z + y)(1 + = + 2).

12. —6xy + zy? + 22y% — 62 + yz + zyz. Sol: (=6 4+ y + zy)(zy + 2).
13. —12 — 422 + 32y + 23y + 3z2 + 232. Sol: (3 + 22)(—4 + z(y + 2)).
14. 12+ 4z + 4y + 32 + 2z + yz. Sol: B3+ z+y)(4+ 2).
15. 2y + zy? + 222 + zyz + 22yz + zy22. Sol: z(1 4+ y)(y + zz + y=2).
16. —48 — 6zy — 62 + 8yz + xy’z + y22. Sol: (8 + zy + 2)(—6 + y=).
17. 56 + 8x + Ty + 9wy + zy>. Sol: (8 + y)(7 + = + zy).

18.
19.
20.

4+ 2y + 4z + yz + 22
56 + Ty + 8zy + wy? + 72 + zy=.

dxy + zy? + dyz + vyz + 2z + y22

Sol: (24 2)(2+y+ 2).

)
)
)
)
)
)
)
)
)
Sol: (34 22 4 4)(5 + 2).
)
)
)
)
)
)
)
)
Sol: (7 + zy)(8 + y + z).

)

Sol: y(x + z)(4 + y + 2).
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21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.
51.
52.
53.

—50 — 522 + 10zy + 23y — 52 + xyz.
—16 + 8z — 2y + xy + 8yz + y>=2.

4z + 4y + 22 + 222 + yz + zyz.

18 + 922 + 22 + 222 + 2yz + 2%yz.
35 + 12zy + z2y% + 5z + zyz.

12 — 4x — 4z — 3yz + zyz + y22.
—60 + 10z + 10z — 6yz + Tyz + y22.
—60 + 4zy + 2%y? + 10yz + zy%2.

81 + 9zy + 9zz + Yyz + x2yz + zyz>.
25 + 10y + 5zy + y? + zy?.

322 4+ 23 + 3y + zy + 222 + y2.

18 + 6y + 3zz + 3yz + xyz + y2=2.
—20 + 1022 — 2zy + 23y + 102 + zyz.
—18 — 22 + 922 + 23 — 2z2 + x32.

—20 4 4z — bz — byz + 22 + y22.

6+ 3z + 2y + zy + 22 + x2.

—20 — 522 + 4y + 2%y — 52 + y=2.

—8 — 2y + 2zy + y? + 29

—6y + 22y — 6x2 + 232 — 6yz + x3yz.
—52 — bxz + yz + zyz + y2? + zy2’.
—12 — 3xy + 4xz — 3yz + ryz + Y22,
=B x2y =2 = T2 BYZ :z:2yz.

—8 — 222 + 4z + 2?2 + 4yz + 22y2

—2y + 2%y — 2yz + 2Pyz + Y22 + 222
—25 — bz + 5x? + 2% — brz + 232

42 + 6x + 6x2 + Tzy + 22y + 23y

70 + 7z + 7x? + 102 + z2 + 222

—27+ 9y — 3zy + xy® — 3yz + ¥’z

—14 — 222 + Ty + 2%y — 2z + yz
-3z + 22 — 32+ x2z + Yz + Y22

az? + ay* + 2522 + 22y122 + ayz® + 2?y2d
—8 + 22%y? — dyz + 2?3z + 22* + y2°

9¢ + 9z + cx® + 2% + cx?z + 232

Sol: (=5 4+ zy)(10 + 22 + 2).
Sol: (8 +y)(—2+z + yz).
Sol: (z +y)(4 + z + x2).
Sol: (2 + 2%)(9 + 2 + yz).
Sol: (54 zy)(7+ zy + ).
Sol: (=3 + = + 2)(—4 + y2).
Sol: (=6 + 2 + 2)(10 + y=z).
Sol: (10 + zy)(—6 + zy + y=).
Sol: (9 + z2)(9 + zy + y=).
Sol: (5+y)(5 +y + zy).
Sol: (22 + y)(3 + = + 2).
Sol: (3 +y)(6 + zz + yz).
Sol: (10 + zy) (=2 + 2% + 2).
Sol: (=2 + 2%)(9 + = + z2).
Sol: (=5 + 2)(4 + xz + y=).
Sol: 24+ 2)(3+y+ 2).

)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
Sol: (=5 +y)(4 + 2 + 2).
Sol: (2 +y)(—4 +y + zy).
Sol: (—6 + 2?)(y + 2z + y2).
Sol: (1 + z)z(=5 +y + yz).
Sol: (=3 + z2)(4 + 2y + y2).
Sol: (—1 + ay)(z + 2 + x2).
Sol: (4 + 22)(—2 + z + yz).
Sol: y(1 + 2)(—2 + 22 + y2).
Sol: (=5 + 22)(5 + z + x2).
Sol: (7 + z + 22)(6 + xy).

Sol: (10 + z + 22)(7 + 2).

Sol: (=34 y)(9 + zy + y=).
Sol: (=2 +y)(7 + 2 + 2).
Sol: (x + 2)(=3 + x + y=z).
Sol: (a + 222%)(z* + y* + y23).
Sol: (2 + yz)(—4 + 222 + 24)
)

Sol: (¢ + z)(9 + 23 + 2%2).
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54.
55.
56.
57.
58.
59.
60.
61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
71.
72.
73.
74.
75.
76.
77.
78.
79.
80.
81.
82.
83.
84.
85.
86.

4 — 4z2y — yz — xylz + 22922 + 2332

3a + ax?y + axy® + 3x23 + 23y23 + 22y323
—48 — 6a + 83y + axdy — 622y + 253
9% + 28 + 9y + 2ty3 + 924 + 2t
—52+ cz — 5xz + cxz + y2? + zyz?
=323z + az32 — 323 + az3 + 2523 + 2225
16 + 4x32 + 4x2yz + xPy2? + 4x23 + 23y2*
x3y + x4y + 2522 + 2622 + xyz2 + 3%

12 4 4z + 3x%yz + 22y2? + dy23 + x2y% 24
ba* + bxy? + 20yz + 23932 + bz + x3y2?t
3

1 -2z — 232 — 22yz + 222 + 23y2?

—54 — 6a — 62222 + 9223 + ax2® + x32°
—15 — 3x2y? + 5232 + xPy?2 — 322 4 z423

—28 + 7x3 — dxy? + zy? — 423 + 2323
Tc+ cx?y? + 7222 + 2y 2z + cy’z + 229322
8z + x2 + 8xy2? + x2y2? + 2y2® + xy?2P
9b + 923y + bx?z + xByz + 923 + 2224

36 — 6z — 62222 + 2223 — 62% + 2°
-3 —y* + 324 32%yz + ytz + 22952
—dx?y + a3y — 4% + 2y — dy3z + 2z
43 + 23y + 4ayd + 2yt + 22 + 2ty32
—zt %22 + 2022 — y23 T xy25 T nyZE’
10c + 10y + 10332 + c23 + y23 + 324

-7 — 23y + Ty° + 239y* — zy?2 + 292

cT y+cy + zPyz —|—a:2y422+x yz —|—y 2

dxz? + 42222 + 42° + 228 + 2226 + 27

6222 + 6xy%z + 1322 + 229?22 + 6y23 + zy2?

2z + x + 2xy2 + zhy? + 223 + 1y?23

xPyz + 2 + 2ty2d + 2%yt + xy3z4 + zy28

—4x3z + 272 + 23ytz — dy2d + xtyd + 528

—4 — 2%y + 43 + 22yt + dxPyz + 2ty?2
4$2y2 + 4y3 + 41’32 + $2y22’3 + y323 +.T324
bryz + br?2>

+ bryz? + 2y%2% + 23y + 12922

Sol: (=1 + z%y)(—4 + yz + zy32).
Sol: (3 + 2%y + zy3)(a + z23).
Sol: (=6 + z3y)(8 + a + x2y?).

Sol: (9 + %) (z* + 32 + 2%)
Sol: (1 + z)2(=5+ ¢+ yz).
Sol: 2(z® + 22) (=3 + a + 2%2?).
Sol: (4 + 2%yz)(4 + x32 + x23).
Sol: z(z? + z3 + 22)(y + 2%22).
Sol: (4 + z%y2)(3 + z + y23).
Sol: z(b + x2yz)(z3 + 3% + 23)

Sol: (=1 + z2)(—1 + 232 + xyz2).

Sol: (9 + a + 2222)(—6 + x23).

Sol: (=3 + 232)(5 + z2y? + z22).
Sol: (—4 + z3)(7 + zy? + 23)
Sol: (¢ + 222)(7 + x2y? + y32).
Sol: z(1 + y22)(8 + = + y23).
Sol: (9 + z22)(b + 23y + 23).
Sol: (=6 + 2)(—6 + 2222 + 2*).
Sol: (3 + y*)(—1 + 2 + x2yz).
Sol: (—4 + z)y(2? + y2(1 + 2)).
Sol: z(z2 + y?) (4 + y + 232).
Sol: (=1 + 22 + 2%22)(z* + yz3).
Sol: (¢ +y + y%2)(10 + 23)

Sol: (=1 + y®)(7 + 23y + xy?z).
Sol: y(z3 + y3)(c + 2222 + 2*)
Sol: 22(x + z2 + 2)(4 + 2%)

Sol: 2(6 + zz)(x? + zy? + y22).
Sol: z(1 + y2)(2 + 2 + 23)

Sol: zyz(z + y* + 2%)(a® + 23)

Sol: (—4 + z* + y*)z(z3 + y22?).

Sol: (4 + x2y)(—1 + 3 + 22%yz).

Sol: (x2y? + y3 + 232) (4 + 23)

)

Sol: zz(y + zz + yz)(b + 2yz).
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87.
88.
89.
90.
91.
92.
93.
94.
95.
96.
97.
98.
99.
100.
101.
102.
103.
104.
105.
106.
107.
108.
109.
110.
111.
112.
113.
114.
115.
116.
117.
118.
119.
120.

6y3 + 22y° + 6232 + 20y%2 + 6y23 + 22y323
28 + Tb + Tzy + 4yz3 + byz3 + zy?23

25+ 28y + 2tyB 4 22yz? + 23y222 + oyts?

6 — 3a — 2zyz + axyz — 2y32 + aydz
x5y22+aﬁ4y3z+x Y 42+ 22 Y z+x2y4z2+y
—50 — 5xy + 10y* + zy® — 5x2yz + 22452
—6b — 623y + byz> + 239?23 + bzt + 23yt
40 + 10c + 10y3 + 4zz + cxz + 2932
3z + 23 Y 22+ 222 + 22 yz —l—a:y % —|—.732 B2
10z + 2%yz + 3yz + 102222 + 23y23 + zty23
—15+ 322 — 532 + %2 — 523 + 2323
60 + 6z + 10y* + zy* + 10232 + 2%z

30 + 3y3 + 10y* + y” + 3wyz? + zy°2?

63 + 922y + 923y + Tx23 + 23y2> + zty2?
3xy3 + 24y32 + 3222 + 3zy2® + 2428 + 2ty2B
—6y> + cy? — 62y + cxy® + 32 + xyz

bx? + 23 4 bx3z + 242 + br2d + 2223
3232 — 3y3z2 + 23ytz + Y72 + 2Py2? + 22yt2?
x4y2 T x2y5 + 282+ 24 y 2+ xtz® + x2y323
93z + x3ytz + 982 4+ 924 + 23yt + 9432

6yz + y2? + 29322 + 62 + 25 + xy22°

8x3z + bx3z + 82222 + bx?2? + 823 + b2

2

3a + 3zy + axdy + z*y? + axyz® + 2%y%2

— 222 + 23yP 2% — 22% — 2% + 20 + 226

by + cy + bryz + cryz + bxlyz + cxlyz
—20 — 4c + 522y + cx?y + 5y + cy2®
1 aBy223

x4y + 252+ x3y2z = :U4yz2 + 2528

—5x% + 27y + 2%9% — bxy?z + P2 + 232

3rz + 23yz + 3xy?z + 23y 2 + 22y%22 + 22yt2
693 + 62 + zy42? + 6y2® + ry2d + xy?2°
—32%y? + 259% — 32 + 2%z — 3wyz + 2%yz
2xy + 2232 + 2yz + 23y2? + 2523 + 22y23
bx + byt + 23yz + 2%y 2 + bry2? + x3y%23
3

Yz + ;v3yz + x2y22 + xyz3 + x4yz3 + x3y2z

Sol: (6 + 2%y?)(y* + %2 + y2?).
Sol: (4 + b+ zy)(7 + yz3).

Sol: z(z + 2%y + y3)(z3 + y22).
Sol: (=2 + a)(—3 + zyz + y32).
Sol: y2(x? + y?)z(z3 + 2%y + y°2).
Sol: (=5 + y*)(10 + zy + x2yz2).
Sol: (b+ z3y)(—6 + y2* + 2%)
Sol: (4 + ¢+ 42)(10 + z2).

Sol: z(1 + y?)z(2? + 2 + zyz).
Sol: (10 + zyz + x2yz)(1 + x2?).
Sol: (=5 + 22)(3 + 232 + z23).
Sol: (10 + z)(6 + y* + z32).

Sol: (3 + y*)(10 + 32 + xyz?).
Sol: (7 + z?y + 23y)(9 + z23).
Sol: 2(3 + 232) (y3 + 22 + y2?).
Sol: (1 + x)y3(—6 + c + 2).

Sol: z(b + z)(x + 222 + 23).
Sol: (2% + y3)2z(=3 + y* + 2%yz).
Sol: 22(z? + 33) (y? + 222 + 23)
Sol: (9 + @3y + y3)2(y> + 23)

Sol: (6 + z + zy?2)(y + 2°)

Sol: (8 + b)z(z® + 222 + 22?)

Sol: (a + zy) (3 + 23y + zyz?).

Sol: (=2 + z22)(2%y? + 23 + 2*%)
Sol: (b + ¢)y(1 + xz + 222).

Sol: (5 + ¢)(—4 + 22y + y23).

Sol: z3(zy + 222 + y22)(1 + 22)
Sol: z(=5 + z3y + z24?) (z3 + y22).
Sol: z(1 + 42)2(3 + 2%y + xy?2).
Sol: (6 + zyz?)(y® + 2 + yz3).
Sol: (=3 + z4)(z?y? + 2z + zyz).
Sol: (zy + x32 + y2)(2 + x222).
Sol: (b + 2%yz2)(x + y* + zy2?).
)

Sol: y(1 + 2 + 22y)2(1 + x2?).



